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2.There are 2 lozenges in a packet. How many lozenges are 

there in 8 packets? 

Soln: 

                     In 1  packet  2 lozenges 

Therefore  In  8 packets (2×8) lozenges  

                                            =16 lozenges 

Ans: 16 lozenges. 
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3. There are 10 benches in a classroom. 5 pupils can sit on a 

bench. How  many pupils can sit in total in the classroom? 

 

Soln:  

                        In  1 bench   5 pupils 

   Therefore   In 10 benches (5×10) pupils 

                                                   =50 pupils. 

Ans: 50 pupils.                 

                     

  4.Father walks 4 hours daily. How many hours does he walk 

in  7  days? 

Soln:  

                   1 day father walks 4 hours 

Therefore  7 days father walks(4×7) hours 

                                                         =28 hours. 

Ans: 28 hours. 

 



5.Ujwals wants to buy 4 books, and each book costs 21 taka. 

How much does he pay? 

 

 

Soln: 

                    1 book costs  21 taka 

Therefore   4 books cost (21×4) taka 

                                              =84 taka 

Ans: 84 taka          

                           

                              

                                                The end 


